Week 5 Review

Tuesday, February 25, 2020 6:19 PM

1 Section 7.3

1. Evaluate the following integrals:

Evaluate the following integrals:

$$x = 2 \quad \Theta = \sin^{-1}\left(\frac{2}{2}\right) = \frac{\pi}{2}$$

(a)
$$\int_{-2}^{2} \sqrt{4 - x^{2}} dx$$

$$A^{2} - x^{2} \Rightarrow x = \alpha \sin \Theta$$

$$x = 2 \sin \Theta$$

$$x = 2 \cos \Theta d\Theta d\Theta$$

$$= \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \int \frac{H(1 - \sin^{2}\Theta)}{\cos^{2}\Theta} d\cos \Theta d\Theta$$

$$= \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \int \frac{H(1 - \sin^{2}\Theta)}{\cos^{2}\Theta} d\cos \Theta d\Theta$$

$$= H \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \int \frac{H(1 - \sin^{2}\Theta)}{\cos^{2}\Theta} d\cos \Theta d\Theta$$

$$= 2 \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \int \frac{H(1 - \sin^{2}\Theta)}{\cos^{2}\Theta} d\cos \Theta d\Theta$$

$$= 2 \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \int \frac{H(1 - \sin^{2}\Theta)}{\cos^{2}\Theta} d\cos \Theta d\Theta$$

$$= 2 \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \int \frac{H(1 - \sin^{2}\Theta)}{\cos^{2}\Theta} d\cos \Theta d\Theta$$

$$= 2 \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \int \frac{H(1 - \sin^{2}\Theta)}{\cos^{2}\Theta} d\cos \Theta d\Theta$$

$$= 2 \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \int \frac{H(1 - \sin^{2}\Theta)}{\cos^{2}\Theta} d\cos \Theta d\Theta$$

$$= 2 \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \int \frac{H(1 - \sin^{2}\Theta)}{\cos^{2}\Theta} d\cos \Theta d\Theta$$

$$= 2 \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \int \frac{H(1 - \sin^{2}\Theta)}{\cos^{2}\Theta} d\cos \Theta d\Theta$$

$$= 2 \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \int \frac{H(1 - \sin^{2}\Theta)}{\cos^{2}\Theta} d\cos \Theta d\Theta$$

$$= 2 \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \int \frac{H(1 - \sin^{2}\Theta)}{\cos^{2}\Theta} d\cos \Theta d\Theta$$

$$= 2 \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \int \frac{H(1 - \sin^{2}\Theta)}{\cos^{2}\Theta} d\cos \Theta d\Theta$$

$$= 2 \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \int \frac{H(1 - \sin^{2}\Theta)}{\cos^{2}\Theta} d\cos \Theta d\Theta$$

$$= 2 \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \int \frac{H(1 - \sin^{2}\Theta)}{\cos^{2}\Theta} d\cos \Theta d\Theta$$

$$= 2 \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \int \frac{H(1 - \sin^{2}\Theta)}{\cos^{2}\Theta} d\cos \Theta d\Theta$$

$$= 2 \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \int \frac{H(1 - \sin^{2}\Theta)}{\cos^{2}\Theta} d\cos \Theta d\Theta$$

$$= 2 \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \int \frac{H(1 - \sin^{2}\Theta)}{\cos^{2}\Theta} d\cos \Theta d\Theta$$

$$= 2 \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \int \frac{H(1 - \sin^{2}\Theta)}{\cos^{2}\Theta} d\cos \Theta d\Theta$$

$$= 2 \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \int \frac{H(1 - \sin^{2}\Theta)}{\cos^{2}\Theta} d\cos \Theta d\Theta$$

$$= 2 \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \int \frac{H(1 - \sin^{2}\Theta)}{\cos^{2}\Theta} d\cos \Theta d\Theta$$

$$= 2 \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \int \frac{H(1 - \sin^{2}\Theta)}{\cos^{2}\Theta} d\cos \Theta d\Theta$$

$$= 2 \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \int \frac{H(1 - \sin^{2}\Theta)}{\cos^{2}\Theta} d\cos \Theta d\Theta$$

$$= 2 \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \int \frac{H(1 - \sin^{2}\Theta)}{\cos^{2}\Theta} d\cos \Theta d\Theta$$

$$= 2 \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \int \frac{H(1 - \sin^{2}\Theta)}{\cos^{2}\Theta} d\cos \Theta d\Theta$$

$$= 2 \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \int \frac{H(1 - \sin^{2}\Theta)}{\cos^{2}\Theta} d\cos \Theta d\Theta$$

$$= 2 \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \int \frac{H(1 - \sin^{2}\Theta)}{\cos^{2}\Theta} d\cos \Theta d\Theta$$

$$= 2 \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \int \frac{H(1 - \sin^{2}\Theta)}{\cos^{2}\Theta} d\cos \Theta d\Theta$$

$$= 2 \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \int \frac{H(1 - \sin^{2}\Theta)}{\cos^{2}\Theta} d\cos \Theta d\Theta$$

$$= 2 \int_{-\frac{\pi}{2}}^{\frac{\pi}{$$

(c)
$$\int \frac{x^3}{\sqrt{4x^2 - 9}} dx = \int \frac{x^3}{2\sqrt{x^2 - \frac{9}{4}}} dx \qquad x^2 - x^3 \Rightarrow x = x \sec \theta$$

$$= \int \frac{\frac{3^2}{6} \sec^3 \theta}{2\sqrt{\frac{9}{4} \sec^3 \theta}} \cdot \frac{3}{2} \sec \theta + \ln \theta$$

$$= \frac{81}{32} \int \frac{\sec^4 \theta}{\sqrt{\frac{9}{4} (\sec^3 \theta - 1)}} d\theta$$

$$= \frac{27}{16} \int \sec^4 \theta d\theta$$

$$= \frac{27}{16} \int \sec^2 \theta \left(+ \ln^2 \theta + 1 \right) d\theta \qquad u = + \ln \theta$$

$$= \frac{27}{16} \int (u^2 - 1) du$$

$$= \frac{27}{16} \int (u^2 -$$

(e)
$$\int_{0}^{1} x^{3} \sqrt{x^{2}+1} dx$$
 $x = +a \cdot \theta$ $x = 0 \rightarrow \theta = +m^{-1}(\theta) = 0$

$$dx = sec^{2}\theta d\theta$$

$$= \int_{0}^{\pi/4} +a^{3}\theta \sqrt{+a^{3}\theta+1} \cdot sec^{2}\theta d\theta$$

$$= \int_{0}^{\pi/4} +a^{3}\theta \cdot sec^{3}\theta d\theta$$

$$= \int_{0}^{\pi/4} +a^{3}\theta \cdot sec^{3}$$

(b)
$$\int \frac{1}{\sqrt{x^2 + 25}} dx$$

$$x = 5 + \infty \Theta$$

$$dx = 5 \sec^2 \theta d\Theta$$

$$= \int \frac{1}{\sqrt{25 + \lambda^2 \theta + 25}} \cdot 5 \sec^2 \theta d\Theta$$

$$= \int \frac{1}{\sqrt{25 + \lambda^2 \theta + 25}} \cdot 5 \sec^2 \theta d\Theta$$

$$= \int \frac{1}{\sqrt{25 + \lambda^2 \theta + 25}} \cdot 5 \sec^2 \theta d\Theta$$

$$= \int \frac{1}{\sqrt{25 + \lambda^2 \theta + 25}} \cdot 5 \sec^2 \theta d\Theta$$

$$= \int \sec \theta d\Phi$$

$$= \int \ln \left| \sec \theta + \tan \theta \right| + C$$

$$= \int \ln \left| \frac{x^2 + x^2}{5} + \frac{x}{5} \right| + C$$

$$= \int \ln \left| \frac{x^2 + x^2}{5} + \frac{x}{5} \right| + C$$

$$= \int \ln \left| \frac{x^2 + x^2}{5} + \frac{x}{5} \right| + C$$

$$(d) \int \frac{x^2}{\sqrt{9-x^2}} dx^4 \qquad x = 3 \sin \theta$$

$$= \int \frac{9 \sin^2 \theta}{\sqrt{9-9 \sin^2 \theta}} \cdot 3 \cos \theta d\theta$$

$$= 27 \int \frac{\sin^2 \theta \cos \theta}{\sqrt{9(1-\sin^2 \theta)}} d\theta$$

$$= 9 \int \sin^2 \theta d\theta \qquad \sin^2 \theta = \frac{1}{2} (1-\cos(3\theta))$$

$$= \frac{9}{2} \int (1-\cos(3\theta)) d\theta \qquad \sin^2 \theta = \frac{1}{2} (1-\cos(3\theta))$$

$$= \frac{9}{2} \left(\theta - \frac{1}{2} \sin(3\theta) + C \right)$$

$$= \frac{9}{2} \left(\theta - \frac{1}{2} \sin(3\theta) + C \right)$$

$$= \frac{9}{2} \left(3 \sin^{-1} \left(\frac{x}{3}\right) - \frac{x}{3} \cdot \frac{9-x^2}{3}\right) + C$$

$$= \frac{9}{2} \left(5 \sin^{-1} \left(\frac{x}{3}\right) - \frac{x}{3} \cdot \frac{9-x^2}{3}\right) + C$$

$$= \frac{9}{2} \left(5 \sin^{-1} \left(\frac{x}{3}\right) - \frac{x}{3} \cdot \frac{9-x^2}{3}\right) + C$$

(f)
$$\int \frac{1}{x^2 - 2x + 5} dx$$

$$= (x - 1)^2 + 4$$

$$= \int \frac{1}{(x - 1)^2 + 4} dx$$

$$= x - 1 = 2 + xn \theta \quad (= xn \text{ also let } u = x^{-1}, \text{ then } u = 2 + xn \theta)$$

$$= \int \frac{1}{4 + xn^2\theta + 4} \cdot 2 \sec^2\theta d\theta$$

$$= \int \frac{1}{4 + xn^2\theta + 4} \cdot 2 \sec^2\theta d\theta$$

$$= \int \frac{1}{4 + xn^2\theta + 4} \cdot 2 \sec^2\theta d\theta$$

$$= \int \frac{1}{4 + xn^2\theta + 4} \cdot 2 \sec^2\theta d\theta$$

$$= \int \frac{1}{4 + xn^2\theta + 4} \cdot 2 \sec^2\theta d\theta$$

$$= \int \frac{1}{4 + xn^2\theta + 4} \cdot 2 \sec^2\theta d\theta$$

$$= \int \frac{1}{4 + xn^2\theta + 4} \cdot 2 \sec^2\theta d\theta$$
Use for formula:
$$= \int \frac{1}{4 + xn^2\theta + 4} \cdot 2 \sec^2\theta d\theta + 2 \cot^2\theta d\theta + 2 \cot^2\theta$$

(b)
$$\int \frac{x-3}{x^3-6x^2+5x} dx$$
 Fixed of $\int \frac{x-3}{(x-5)(x-1)} = \frac{\Delta}{X} + \frac{B}{X-5} + \frac{C}{X-1} \times \frac{(x-5)}{(x-1)}$

 $= \frac{1}{5} \frac{5}{5} \frac{5}{3} \frac{1}{3} \frac{3}{5} \frac{15}{5} = \frac{1}{3} \frac{5}{5} \frac{15}{5} \frac{15}{5} \frac{15}{5} = \frac{1}{5} \frac{15}{5} \frac{15}{5} \frac{15}{5} = \frac{1}{5} \frac{15}{5} \frac{15}{5} = \frac{1}{5} = \frac{1}{5} \frac{15}{5} = \frac{1}{5} = \frac{1}{5$

2 Section 7.4

the following integrals:
$$\frac{x \, dx}{(x+2)(x-2)} \qquad \left(\begin{array}{c} Distinct & Linear Factors \end{array} \right)$$

$$\left(\begin{array}{c} \frac{x}{(x+2)(x-2)} & \frac{A}{(x+2)(x-2)} & \frac{B}{(x+2)(x-2)} \end{array} \right)$$

$$= \left(\frac{1}{2} + \frac{1}{2} \right) \downarrow \chi \qquad = A(x-1) + B(x+2)$$

$$= \left(\frac{1}{2} + \frac{1}{2} \right) \downarrow \chi \qquad \bigcirc Expand and March Power:$$

$$x = Ax - 2A + Bx + 2B$$

$$\frac{1}{2} \ln \left| x+2 \right| + \frac{1}{2} \ln \left| x-3 \right| + C$$

$$\frac{A+B=1}{-2A+2B=0}$$

$$A=\frac{1}{2}$$

 $= \left(\left(\frac{-3/3}{x} + \frac{1/6}{x-5} + \frac{1}{2} \right) dx \right)$

(c)
$$\int \frac{(6x+7)}{x^2+4x+4} dx$$
 (Repeated Linear Factor)

$$= \int \left(\frac{6}{x+2} - \frac{5}{(x+2)^2}\right) dx$$

$$= \left(\frac{6}{x+2} - \frac{5}{(x+2)^2}\right) dx$$

$$= \frac{6}{x+2} + \frac{8}{(x+2)^2} + \frac{8}{(x+2$$

(e)
$$\int \frac{0}{x^3 + 4x} dx^*$$
 improper: divide $x^3 + 4x + 24 dx^*$ $x^3 + 4x + 4x + 24 dx^*$

$$= \int \left(x + \frac{-4x^2 + x - 24}{x^3 + 4x} \right) dx$$
Partial Fraction:

Split - NUMERATOR ON LY!!!

$$= \int \left(x + \frac{-6}{x} + \frac{2x + 1}{x^2 + 4} \right) dx$$

$$= \int \left(x - \frac{6}{x} + \frac{2x + 1}{x^2 + 4} + \frac{1}{x^2 + 4} \right) dx$$

$$= \underbrace{\left(x - \frac{6}{x} + \frac{2x + 1}{x^2 + 4} + \frac{1}{x^2 + 4} \right) dx}_{x = x^2 + 4}$$

$$= \underbrace{\left(x - \frac{6}{x} + \frac{2x + 1}{x^2 + 4} + \frac{1}{x^2 + 4} \right) dx}_{x = x^2 + 4}$$

$$= \underbrace{\left(x - \frac{6}{x} + \frac{2x + 1}{x^2 + 4} + \frac{1}{x^2 + 4} + \frac{1}{x^2 + 4} \right) dx}_{x = x^2 + 4}$$

$$= \underbrace{\left(x - \frac{6}{x} + \frac{2x + 1}{x^2 + 4} + \frac{1}{x^2 + 4} + \frac{1}$$

(irreducible quadratic)
$$\left(\frac{-4x^2 + x - 24}{x(x^2 + 4)} = \frac{A}{x} + \frac{Bx + C}{x^2 + 4}\right) \times (x^2 + 4)$$

$$-4x^2 + x - 24 = A(x^2 + 4) + (Bx + C)x$$

$$-4x^2 + x - 24 = Ax^2 + 4A + Bx^2 + Cx$$

$$-4 = A + B \rightarrow B = 2$$

$$C = 1$$

$$4A = -24 \rightarrow A = -6$$

A+2C=-8

2. Find the volume of the solid formed by rotating the region under the curve

$$y = \frac{2}{x^2 + 3x + 2}, x \in [0, 1]$$
:

(a) about the x-axis
$$\bigvee = \int_{0}^{1} \left(\frac{2}{(x+2)(x+1)} \right)^{2} dx$$

$$= \int_{0}^{1} \frac{4}{(x+2)^{2}(x+1)^{2}} dx$$

$$V = \left(\frac{2}{(x+2)(x+1)} \right)^{2} dx$$

$$V = \left(\frac{2}{(x+2)(x+1)} \right)^{2} dx$$

$$= \int_{0}^{1} \frac{4}{(x+2)^{2}(x+1)^{2}} dx$$

$$\left(\frac{4}{(x+2)^{2}(x+1)^{2}} = \frac{A}{x+2} + \frac{B}{(x+2)^{2}} + \frac{C}{(x+1)^{2}} + \frac{D}{(x+2)^{2}} + \frac{D}{(x+2)^{2}}$$

$$= \int_{0}^{1} \left(\frac{8}{x+2} + \frac{4}{(x+2)^{2}} - \frac{8}{x+1} + \frac{4}{(x+1)^{2}} \right) dx \qquad 4 = A(x)$$

$$8 \ln |x+2| - \frac{4}{x+2} - 8 \ln |x+1| - \frac{4}{x+1}$$

$$= 8 \ln |x+2| - \frac{4}{x+2} - 8 \ln |x+1| - \frac{4}{x+1} \Big|_{B}$$

$$= \left[\left(8 \ln (3) - \frac{4}{3} - 8 \ln (2) - 2 \right) - \left(8 \ln (2) - 2 - 0 - 4 \right) \right]$$

$$\frac{(x+1)^2(x+1)^2}{4 = A(x+2)(x+1)^2} + B(x+1)^2 + C(x+1)(x+2)^2 + D(x+2)^2$$

$$x = -2 \qquad 4 = B \qquad \text{all other terms } O$$

$$= \begin{cases} \frac{8}{x+2} + \frac{4}{(x+2)^2} - \frac{4}{x+1} + \frac{4}{(x+1)^2} \\ = \frac{4}{x+2} - \frac{4}{x+2} - \frac{4}{x+1} - \frac{4}{x+1} \\ = \frac{4}{x+2} - \frac{4}{x+2} - \frac{4}{x+1} - \frac{4}{x+1} \\ = \frac{4}{x+1} - \frac{4}{x+2} - \frac{4}{x+1} - \frac{4}{x+1} \\ = \frac{4}{x+1} - \frac{4}{x+2} - \frac{4}{x+1} - \frac{4}{x+1} - \frac{4}{x+1} \\ = \frac{4}{x+1} - \frac{4}{x+2} - \frac{4}{x+1} - \frac{4}{x$$

(b) about the y-axis
$$f(x) = \int_{-\infty}^{\infty} f(x) dx$$

$$V = \int_{-\infty}^{\infty} 2\pi x \cdot \int_{-\infty}^{\infty} f(x) dx$$

(b) about the y-axis

$$V = \int_{0}^{1} 2\pi \times \frac{1}{(x+1)(x+2)} dx$$

$$= 2\pi \int_{0}^{1} \frac{X}{(x+1)(x+2)} dx$$

$$= 2\pi \int_{0}^{1} \frac{X}{(x+1)(x+2)} dx$$

$$= 2\pi \int_{0}^{1} \frac{X}{(x+1)(x+2)} dx$$

$$= 2\pi \left(2 \ln|x+2| - \ln|x+1| \right) \Big|_{0}^{1}$$

$$= 2\pi \left((2 \ln|x+2| - \ln|x+1|) \right) \Big|_{0}^{1}$$

$$= 2\pi \left((2 \ln|x+2| - \ln|x+1|) \right) \Big|_{0}^{1}$$

$$= 2\pi \left((2 \ln|x+2| - \ln|x+1|) \right) \Big|_{0}^{1}$$

$$= 2\pi \left((2 \ln|x+2| - \ln|x+1|) \right) \Big|_{0}^{1}$$

$$= 2\pi \left((2 \ln|x+2| - \ln|x+1|) \right) \Big|_{0}^{1}$$

$$= 2\pi \left((2 \ln|x+2| - \ln|x+1|) \right) \Big|_{0}^{1}$$